		41.4										M/s. Madni Furnigation Services												
		QTY	_			Iv			rvices									M/s. Fumicon	Services (P	vt) Ltd				
S#	DESCRIPTION	(Sq. Ft)	Flying I	per service charges			oofing Services Building acture Rate per service charges	Rodent Co	ontrol Fumigation Sen charges	vices Rate per service		gus Treatment er service charges	Flying Ins	ect Fumigation Spray per service ch	/ Gel Treatment Rate	Termite Pr	oofing Services Building / service charge		Rodent Co	ontrol Fumigation Serv	ices Rate per service		Fungus Treatm Rate per service cl	
100000	MAIN CAMPUS	ACCOUNTS AND A SECOND	RATE	AMOUNT	QUOTED AMOUNT	RATE	AMOUNT	RATE	AMOUNT	QUOTED AMOUNT	RATE	AMOUNT	RATE	AMOUNT	QUOTED	RATE	AMOUNT	QUOTED	RATE	AMOUNT	QUOTED	RATE	AMOUNT	QUOTED
1	MAIN CAMPUS																	AMOUNT			AMOUNT			AMOUNT
a.	Aman CED	54,012	Rs. 0.2	.5 Rs. 13,503.00		Rs. 1.00	Rs. 54,012.00	Rs. 0.15	Rs. 8,101.80		Rs. 0.10	Rs. 5,401.2	Rs. 0.3	Rs. 17,283.84	Rs. 17,284.00	Rs. 2.00	Rs. 108,024,00		Rs. 0.15	Rs. 8,101.80	Rs. 8.102.00	Rs. 0.30	Rs. 16,203.60	Rs. 16,203.0
ь.	Abdul Razzak Tabba Academic Block	53,957	Rs. 0.2	Rs. 13,489.25	Rs. 13,489.20	Rs. 1.00	Rs. 53,957.00	Rs. 0.15	Rs. 8,093.55		Rs. 0.10	Rs. 5,395.70	Rs. 0.32	Rs. 17.266.24	Rs. 17,266.00	Rs. 2.00	Rs. 107,914.00		Rs. 0.15		,			
c.	Students Centre	33,731	Rs. 0.2	S Rs. 8,432.75		Rs. 1.00	Rs. 33,731.00	Rs. 0.15	Rs. 5,059.65		Rs. 0.10	Rs. 3,373.10	Rs. 0.32	Rs. 10,793.92		-	Rs. 67,462.00		-	Rs. 8,093.55	Rs. 8,093.00		Rs. 16,187.10	Rs. 16,187.0
d.	Martin Dow Clinic	3,600	Rs. 0.2	S Rs. 900.00		Rs. 1.00	Rs. 3,600.00	Rs. 0.15	Rs. 540.00		Rs. 0.10	Rs. 360.00	Rs. 0.32	Rs. 1,152.00		-			Rs. 0.15	Rs. 5,059.65	Rs. 5,060.00	Rs. 0.30	Rs. 10,119.30	Rs. 10,119.0
e.	Admin Building (Fauji Foundation	44,360	Rs. 0.2	5 Rs. 11,090.00		Rs. 1.00	Rs. 44,360.00		Rs. 6,654.00		Rs. 0.10					Rs. 2.00	Rs. 7,200.00		Rs. 0.15	Rs. 540.00		Rs. 0.30	Rs. 1,080.00	
f.	G&T Auditorium Building	21,584	Rs. 0.2	5 Rs. 5,396.00		Rs. 1.00	Rs. 21,584.00					Rs. 4,436.00	Rs. 0.32	Rs. 14,195.20	Rs. 14,195.00	Rs. 2.00	Rs. 88,720.00		Rs. 0.15	Rs. 6,654.00		Rs. 0.30	Rs. 13,308.00	
$\rightarrow$	Adamjee Academic Block	29,552	_	,					Rs. 3,237.60		Rs. 0.10	Rs. 2,158.40	Rs. 0.32	Rs. 6,906.88	Rs. 6,907.00	Rs. 2.00	Rs. 43,168.00		Rs. 0.15	Rs. 3,237.60	Rs. 3,238.00	Rs. 0.30	Rs. 6,475.20	Rs. 6,475.00
$\rightarrow$	Library	22,409				Rs. 1.00	Rs. 29,552.00		Rs. 4,432.80		Rs. 0.10	Rs. 2,955.20	Rs. 0.32	Rs. 9,456.64	Rs. 9,457.00	Rs. 2.00	Rs. 59,104.00		Rs. 0.15	Rs. 4,432.80	Rs. 4,433.00	Rs. 0.30	Rs. 8,865.60	Rs. 8,866.00
_	Multipurpose Building	-				Rs. 1.00	Rs. 22,409.00	Rs. C.15	Rs. 3,361.35		Rs. 0.10	Rs. 2,240.90	Rs. 0.32	Rs. 7,170.88	Rs. 7,171.00	Rs. 2.00	Rs. 44,818.00		Rs. 0.15	Rs. 3,361.35	Rs. 3,361.00	Rs. 0.30	Rs. 6,722.70	Rs. 6,723.00
1.	(NBPTech)	11,360	-			Rs. 1.00	Rs. 11,360.00	Rs. 0.15	Rs. 1,704.00		Rs. 0.10	Rs. 1,136.00	Rs. 0.32	Rs. 3,635.20	Rs. 3,635.00	Rs. 2.00	Rs. 22,720.00		Rs. 0.15	Rs. 1,704.00		Rs. 0.30	Rs. 3,408.00	
j.	Kitchen Staff Boys hostel	25,543	Rs. 0.2	5 Rs. 6,385.75		Rs. 1.00	Rs. 25,543.00	Rs. 0.15	Rs. 3,831.45		Rs. 0.10	Rs. 2,554.30	Rs. 0.32	Rs. 8,173.76	Rs. 8,174.00	Rs. 2.00	Rs. 51,086.00		Rs. 0.15	Rs. 3,831.45	Rs. 3,831.00	Rs. 0.30	Rs. 7,662.90	Rs. 7.663.00
k I	New Boys Hostel -A	47,956	Rs. 0.2	5 Rs. 11,989.00		Rs. 1.00	Rs. 47,956.00	Rs. 0.15	Rs. 7,193.40		Rs. 0.10	Rs. 4,795.60	Rs. 0.32	Rs. 15,345.92	Rs. 15,346.00	Rs. 2.00	Rs. 95,912.00		Rs. 0.15	Rs. 7,193.40	Rs. 7,193.00	Rs. 0.30	Rs. 14,386.80	Rs. 14,837.00
l.	New Boys Hostel -B	33,783	Rs. 0.2	S Rs. 8,445.75	Rs. 8,445.70	Rs. 1.00	Rs. 33,783.00	Rs. 0.15	Rs. 5,067.45	Rs. 5,395.00	Rs. 0.10	Rs. 3,378.30	Rs. 0.32	Rs. 10,810.56	Rs. 10,810.00	Rs. 2.00	Rs. 67,566.00		Rs. 0.15	Rs. 5,067.45	Rs. 5,067.00		Rs. 10,134.90	Rs. 10.135.00
m. I	New Boys Hostel -C	28,254	Rs. 0.2	Rs. 7,063.50		Rs. 1.00	Rs. 28,254.00	Rs. 0.15	Rs. 4,238.10		Rs. 0.10	Rs. 2,825.40	Rs. 0.32	Rs. 9,041.28	Rs. 9,041.00	Rs. 2.00	Rs. 56,508,00		Rs. 0.15	Rs. 4,238.10				
n.	Old Boys Hostel	34,200	Rs. 0.2	Rs. 8,550.00		Rs. 1.00	Rs. 34,200.00	Rs. 0.15	Rs. 5,130.00		Rs. 0.10	Rs. 3,420.00	Rs. 0.32	Rs. 10,944,00		Rs. 2.00	Rs. 68.400.00		-		Rs. 4,238.00		Rs. 8,476.20	Rs. 8,476.00
0.	VFR	21,500	Rs. 0.2	Rs. 5,375.00	Rs. 5,395.00	Rs. 1.00	Rs. 21,500.00	Rs. 0.15	Rs. 3,225.00		Rs. 0.10	Rs. 2,150.00	Rs. 0.32	Rs. 6.880.00		Rs. 2.00	,		Rs. 0.15	Rs. 5,130.00		Rs. 0.30	Rs. 10,260.00	
	Girls Hostel Extension.	23,627	Rs. 0.2	Rs. 5,906.75		Rs. 1.00	Rs. 23,627.00	Rs. 0.15	Rs. 3,544.05		Rs. 0.10	Rs. 2,362.70	Rs. 0.32				Rs. 43,000.00		Rs. 0.15	Rs. 3,225.00		Rs. 0.30	Rs. 6,450.00	
$\neg$	Prayer Hall Male	3,300	Rs. 0.2	Rs. 825.00		Rs. 1.00	Rs. 3,300.00		Rs. 495.00				NOT	Rs. 7,560.64	Rs. 7,560.00	Rs. 2.00	Rs. 47,254.00		Rs. 0.15	Rs. 3,544.05	Rs. 3,544.00	Rs. 0.30	Rs. 7,088.10	Rs. 7,058.00
r. F	Prayer Hall Female	3,000	Rs. 0.2	Rs. 750.00		Rs. 1.00	Rs. 3,000.00		Rs. 450.00		Rs. 0.10	Rs. 330.00	QUOTED	NOT QUOTED	NOT QUOTED	QUOTED	NOT QUOTED	NOT QUOTED	QUOTED	NOT QUOTED	NOT QUOTED	NOT QUOTED	NOT QUOTED	NOT QUOTED
s. F	Power Centre		Rs. 0.25	Rs. 825.00							Rs. 0.10	Rs. 300.00	QUOTED	NOT QUOTED	NOT QUOTED	QUOTED	NOT QUOTED	NOT QUOTED	NOT QUOTED	NOT QUOTED	NOT QUOTED	NOT QUOTED	NOT QUOTED	NOT QUOTED
_	Staff Colony Faculty	,				Rs. 1.00	Rs. 3,300.00	-	Rs. 495.00		Rs. 0.10	Rs. 330.00	Rs. 0.32	Rs. 1,056.00		Rs. 2.00	Rs. 6,600.00		Rs. 0.15	Rs. 495.00		Rs. 0.30	Rs. 990.00	
	Apartments Girls Hostel old		Rs. 0.25			Rs. 1.00	Rs. 52,800.00	_	Rs. 7,920.00		Rs. 0.10	Rs. 5,280.00	Rs. 0.32	Rs. 16,896.00		Rs. 2.00	Rs. 105,600.00		Rs. 0.15	Rs. 7,920.00		Rs. 0.30	Rs. 15,840.00	
_	GITS Hostel old  KESC Substation Boys	27,482	Rs. 0.25	Rs. 6,870.50		Rs. 1.00	Rs. 27,482.00	Rs. 0.15	Rs. 4,122.30	9.9	Rs. 0.10	Rs. 2,748.20	Rs. 0.32	Rs. 8,794.24	Rs. 8,794.00	Rs. 2.00	Rs. 54,964.00		Rs. 0.15	Rs. 4,122.30	Rs. 4,122.00	Rs. 0.30	Rs. 8,244.60	Rs. 8,245.00
	Hostel & Staff Town		Rs. 0.25	Rs. 208.00		Rs. 1.00	Rs. 832.00	Rs. 0.15	Rs. 124.80		Rs. 0.10	Rs. 83.20	Rs. 0.32	Rs. 266.24	Rs. 266.00	Rs. 2.00	Rs. 1,664.00		Rs. 0.15	Rs. 124.80	Rs. 125.00	Rs. 0.30	Rs. 249.60	Rs. 250.00
	Sub Total (1):	580,142		Rs. 145,035.50	Rs. 145,035.40		Rs. 580,142.00		Rs. 87,021.30	Rs. 87,348.85		Rs. 58,014.20		Rs. 183,629.44	Rs. 183,628.00		Rs. 1,147,684.00			Rs. 86,076.30	Rs. 86,075.00		Rs. 172,152.60	

M HARIS QURESHI External Member - PC Procurement Specialist - HEJ University of Karachi

DR. SHAHID MIR
Chairman - PC
Assistant Professor - Management
IBA Karachi

Syed Akbar Hussain Kazmi Member PC Manager Finance (Payable) IBA Karachi

							1											2						
		OTV					M/s. Madni Fumi	_	rvices									M/s. Fumicon	Services (P	vt) Ltd				
S#	DESCRIPTION	(Sq. Ft)	Flying Ins	Flying Insect Fumigation Spray / Gel Treatment Rate per service charges			oofing Services Building cture Rate per service charges	Rodent Co	ontrol Fumigation Serv charges	ices Rate per service		ngus Treatment er service charges	Flying Inse	ct Fumigation Spray / per service char		Termite Pro	Termite Proofing Services Building / Infrastructure Rate per service charges			Rodent Control Fumigation Services Rate per service charges			Fungus Treatme	
			RATE	AMOUNT	QUOTED AMOUNT	RATE	AMOUNT	RATE	AMOUNT	QUOTED	RATE	AMOUNT	RATE	AMOUNT	QUOTED	RATE	AMOUNT	QUOTED	RATE	AMOUNT	QUOTED	RATE	AMOUNT	QUOTED
2	CITY CAMPUS														AMOUNT			AMOUNT			AMOUNT	10.112	Amount	AMOUNT
а.	HBL Building	40,608	Rs. 0.25	Rs. 10,152.00		Rs. 1.00	Rs. 40,608.00	Rs. 0.15	Rs. 6,091.20		Rs. 0.10	Rs. 4,060,80	Rs. 0.32	Rs. 12,994.56	Rs. 12,995.00	Ps 2 00	Rs. 81,216,00		Rs. 0.15			l		
ь.	Faysal Academic block	23,564	Rs. 0.25	Rs. 5,891.00		Rs. 1.00	Rs. 23,564.00	Rs. 0.15	Rs. 3,534.60		Rs. 0.10	Rs. 2,356.40		Rs. 7.540.48	Rs. 7,540.00				_	Rs. 6,091.20	,		Rs. 12,182.40	Rs. 12,182.00
c.	Canteen Ground Floor	2,658	Rs. 0.25	Rs. 664.50		Rs. 1.00	Rs. 2,658.00	Rs 0.15	Rs. 398.70		Rs. 0.10	-		,	-		Rs. 47,128.00		Rs. 0.15	Rs. 3,534.60	,	Rs. 0.30	Rs. 7,069.20	Rs. 7,069.00
d.	JS auditorium		Rs. 0.25			Rs. 1.00	Rs. 12,863.00							Rs. 850.56	Rs. 850.00		Rs. 5,316.00		Rs. 0.15	Rs. 398.70	Rs. 399.00	Rs. 0.30	Rs. 797.40	Rs. 797.00
-	AMAN Tower		Rs. 0.25	-					Rs. 1,929.45	Rs. 1,929.40		Rs. 1,286.30		Rs. 4,116.16	Rs. 4,116.00	Rs. 2.00	Rs. 25,726.00		Rs. 0.15	Rs. 1,929.45	Rs. 1,929.00	Rs. 0.30	Rs. 3,858.90	Rs. 3,859.00
_	Taufeg M. Chonaie admin			,		Rs. 1.00	Rs. 126,000.00	_	Rs. 18,900.00		Rs. 0.10	Rs. 12,600.00	Rs. 0.32	Rs. 40,320.00		Rs. 2.00	Rs. 252,000.00		Rs. 0.15	Rs. 18,900.00		Rs. 0.30	Rs. 37,800.00	
$\neg$	block		Rs. 0.25	Rs. 6,827.00		Rs. 1.00	Rs. 27,308.00	Rs. 0.15	Rs. 4,096.20		Rs. 0.10	Rs. 2,730.80	Rs. 0.32	Rs. 8,738.56	Rs. 8,739.00	Rs. 2.00	Rs. 54,616.00		Rs. 0.15	Rs. 4,096.20	Rs. 4,096.00	Rs. 0.30	Rs. 8,192.40	Rs. 8,192.00
g.	Stores	1,475	Rs. 0.25	Rs. 368.75		Rs. 1.00	Rs. 1,475.00	Rs. 0.15	Rs. 221.25		Rs. 0.10	Rs. 147.50	Rs. 0.32	Rs. 472.00		Rs. 2.00	Rs. 2,950.00		Rs. 0.15	Rs. 221.25	Rs. 221.00	Rs. 0.30	Rs. 442.50	Rs. 442.00
h.	Substation	1,065	Rs. 0.25	Rs. 266.25		Rs. 1.00	Rs. 1,065.00	Rs. 0.15	Rs. 159.75		Rs. 0.10	Rs. 106.50	Rs. 0.32	Rs. 340.80	Rs. 341.00	Rs. 2.00	Rs. 2,130.00		Rs. 0.15	Rs. 159.75	Rs. 160.00	Rs. 0.30	Rs. 319.50	Rs. 319.00
i.	Generator Room	1,165	Rs. 0.25	Rs. 291.25		Rs. 1.00	Rs. 1,165.00	Rs. 0.15	Rs. 174.75		Rs. 0.10	Rs. 116.50	Rs. 0.32	Rs. 372.80	Rs. 373.00	Rs. 2.00	Rs. 2,330.00		Rs. 0.15	Rs. 174,75	Rs. 175.00	Rs 0.30	Rs. 349.50	Rs. 349.00
	Sub Total (2):	236,706		Rs. 59,176.50	Rs. 59,176.50		Rs. 236,706.00		Rs. 35,505.90	Rs. 35,505.80		Rs. 23,670.60		Rs. 75,745.92	Rs. 75,746.00		Rs. 473,412.00			Rs. 35,505.90	Rs. 35.506.00	K3. 0.30		KS. 349.00
	Total (1 + 2):	816,848		Rs. 204,212.00	Rs. 204,211.90		Rs. 816,848.00		Rs. 122,527.20	Rs. 122,527.15		Rs. 81.684.80		Rs. 259,375.36	Rs. 259.374.00			-					Rs. 71,011.80	
	Frequency during the Year:			3			1		3			4		3	10. 235,374.00		Rs. 1,621,096.00			Rs. 121,582.20	Rs. 121,581.00		Rs. 243,164.40	Rs. 243,162.00
	Total Annual Cost:			Rs. 612,636.00	Rs. 612,635.70	Т	Rs. 816,848,00		Rs. 367,581.60	Rs. 367,581,45										3			4	
_	SST (10%):			Rs. 61,263.60	Rs. 61,263.57				-			Rs. 326,739.20		Rs. 778,126.08	Rs. 778,122.00		Rs. 1,621,096.00	Rs. 1,621,096.00		Rs. 364,746.60	Rs. 364,743.00		Rs. 972,657.60	Rs. 972,648.00
	Total Amount with SST:						Rs. 81,684.80		Rs. 36,758.16	Rs. 36,758.14		Rs. 32,673.92		Rs. 77,812.61	Rs. 77,812.00		Rs. 162,109.60	Rs. 162,109.00		Rs. 36,474.66	Rs. 36,474.00		Rs. 97,265.76	Rs. 97,265.00
_				Rs. 673,899.60	Rs. 673,899.27		Rs. 898,532.80		Rs. 404,339.76	Rs. 404,339.59		Rs. 359,413.12		Rs. 855,938.69	Rs. 855,934.00		Rs. 1,783,205.60	Rs. 1,783,205.00		Rs. 401,221.26	Rs. 401,217.00		Rs. 1,069,923.36	Rs. 1,069,913.00
	Quoted Grand Total:						Rs. 2,336,	184.60										Rs. 4,11	0,269.00					
	Grand Total:						Rs. 2,336,	185.28										Rs. 4,11	0,288.91					

M.I+ARIS QURESHI External Member - PC Procurement Specialist - HEJ University of Karachi

DD. SHAHID MIR
Chairman - PC
Assistant Professor - Management
IBA Karachi

Syed Akbai Hussain Kazmi Member - PC Manager Finance (Payable) IBA Karachi

								M/s. ECO S	iervices						M/s. Pak Pansy Fumigation Services								
S#	DESCRIPTION	(Sq. Ft)	Flying In:		umigation Spray / Gel Treatment Rate per service charges		oofing Services Building / acture Rate per service charges	Rodent	Control Fumigation Sen charges	vices Rate per service		Fungus Treatn Rate per service o		Flying In Gel Trea	sect Furnigation Spray / etment Rate per service	Termite Pro	pofing Services Building , cture Rate per service	Rodent Cor	ntrol Fumigation Services		ngus Treatment		
53,00			RATE	AMOUNT	QUOTED AMOUNT	RATE	AMOUNT	RATE	AMOUNT	QUOTED	RATE	AMOUNT	QUOTED	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT		
1	MAIN CAMPUS												AMOUNT						All Control	IONIE	AMOUNT		
a.	Aman CED	54,01	Rs. 0.70	Rs. 37,808.40	Rs. 37,808.00	Rs. 3.00	Rs. 162,036.00	Rs. 1.00	Rs. 54,012.00		Rs. 0.05	Rs. 2,700.60	Rs. 2,701.00	Rs. 1.00	Rs. 54,012.00	Rs. 4.00							
	Abdul Razzak Tabba Academic Block	53,95	Rs. 0.50	Rs. 26,978.50	Rs. 26,979.00	Rs. 3.00	Rs. 161,871.00	Rs. 1.00	Rs. 53,957.00		Rs. 0.05	Rs. 2,697.85	Rs. 2,698.00				Rs. 216,048.00	-	Rs. 135,030.00	-	Rs. 108,024.00		
c.	Students Centre	33,73	Rs. 0.70	Rs. 23,611.70	Rs. 23,612.00	Rs. 3.00	Rs. 101,193.00	Rs. 0.40	Rs. 13,492.40	Rs. 13,492.00	_	Rs. 1,686.55	Rs. 1,687.00		Rs. 53,957.00		Rs. 215,828.00	-	Rs. 134,892.50		Rs. 107,914.0		
d.	Martin Dow Clinic	3,600	Rs. 1.00	Rs. 3,600.00		Rs. 3.00	Rs. 10,800.00	Pr 1 m	Rs. 3,600.00	, , , , , , , , , , , , , , , , , , , ,			NS. 1,007.00	-	Rs. 33,731.00	Rs. 4.00	Rs. 134,924.00	Rs. 2.50	Rs. 84,327.50	Rs. 2.00	Rs. 67,462.0		
e.	Admin Building (Fauji Foundation	44,360	Rs. 0.70	Rs. 31,052.00		Rs. 3.00	Rs. 133,080,00		Rs. 44,360.00		Rs. 0.05			Rs. 1.00	Rs. 3,600.00		Rs. 14,400.00	Rs. 2.50	Rs. 9,000.00	Rs. 2.00	Rs. 7,200.0		
f.	G&T Auditorium Building	21,584	Rs. 0.70	Rs. 15,108.80	Rs. 15,109.00	-					Rs. 0.05	Rs. 2,218.00		Rs. 1.00	Rs. 44,360.00	Rs. 4.00	Rs. 177,440.00	Rs. 2.50	Rs. 110,900.00	Rs. 2.00	Rs. 88,720.0		
g.	Adamjee Academic Block	-	Rs. 0.70	Rs. 20,686.40		-	Rs. 64,752.00		Rs. 21,584.00		Rs. 0.05	Rs. 1,079.20	Rs. 1,079.00	Rs. 1.00	Rs. 21,584.00	Rs. 4.00	Rs. 86,336.00	Rs. 2.50	Rs. 53,960.00	Rs. 2.00	Rs. 43,168.0		
_	Library	_	Rs. 1.00		Rs. 20,686.00		Rs. 88,656.00		Rs. 11,820.80	Rs. 11,821.00	Rs. 0.05	Rs. 1,477.60	Rs. 1,478.00	Rs. 1.00	Rs. 29,552.00	Rs. 4.00	Rs. 118,208.00	Rs. 2.50	Rs. 73,880.00	Rs. 2.00	Rs. 59,104.0		
	Multipurpose Building		_	Rs. 22,409.00		Rs. 3.00	Rs. 67,227.00	Rs. 1.00	Rs. 22,409.00		Rs. 0.05	Rs. 1,120.45	Rs. 1,120.00	Rs. 1.00	Rs. 22,409.00	Rs. 4.00	Rs. 89,636.00	Rs. 2.50	Rs. 56,022.50	Rs. 2.00	Rs. 44,818.0		
. 1	(NBPTech)	11,360		Rs. 11,360.00		Rs. 3.00	Rs. 34,080.00	Rs. 0.40	Rs. 4,544.00		Rs. 0.05	Rs. 568.00		Rs. 1.00	Rs. 11,360.00	Rs. 4.00	Rs. 45,440.00	Rs. 2.50	Rs. 28,400.00	Rs. 2.00	Rs. 22,720.0		
_	Kitchen Staff Boys hostel	25,543	Rs. 1.00	Rs. 25,543.00		Rs. 3.00	Rs. 76,629.00	Rs. 0.40	Rs. 10,217.20		Rs. 0.05	Rs. 1,277.15	Rs. 1,277.00	Rs. 1.00	Rs. 25,543.00	Rs. 4.00	Rs. 102,172.00	Rs. 2.50	Rs. 63,857.50	Rs. 2.00	Rs. 51,086.0		
k.	New Boys Hostel -A	47,956	Rs. 0.70	Rs. 33,569.20	Rs. 33,569.00	Rs. 3.00	Rs. 143,868.00	Rs. 0.40	Rs. 19,182.40	Rs. 19,182.00	Rs. 0.05	Rs. 2,397.80	Rs. 2,398.00	Rs. 1.00	Rs. 47,956.00	Rs. 4.00	Rs. 191,824.00	Rs. 2.50	Rs. 119,890.00	Rs. 2.00	Rs. 95,912.0		
1. 1	New Boys Hostel -B	33,783	Rs. 0.70	Rs. 23,648.10	Rs. 23,648.00	Rs. 3.00	Rs. 101,349.00	Rs. 0.40	Rs. 13,513.20	Rs. 13,513.00	Rs. 0.05	Rs. 1,689.15	Rs. 1,689.00	Rs. 1.00	Rs. 33,783.00	Rs. 4.00	Rs. 135,132.00	Rs. 2.50	Rs. 84,457.50	Rs. 2.00	Rs. 67,566.0		
m. I	New Boys Hostel -C	28,254	Rs. 0.70	Rs. 19,777.80	Rs. 19,778.00	Rs. 3.00	Rs. 84,762.00	Rs. 0.40	Rs. 11,301.60	Rs. 11,302.00	Rs. 0.05	Rs. 1,412.70	Rs. 1,413.00	Rs. 1.00	Rs. 28,254.00	Rs. 4.00	Rs. 113,016.00	Rs. 2.50	Rs. 70,635.00		Rs. 56,508.0		
n. (	Old Boys Hostel	34,200	Rs. 0.70	Rs. 23,940.00		Rs. 3.00	Rs. 102,600.00	Rs. 0.40	Rs. 13,680.00		Rs. 0.05	Rs. 1,710.00	Rs. 1,710.00	Rs. 1.00	Rs. 34,200.00	Rs. 4.00	Rs. 136,800.00	Rs 250	Rs. 85,500.00		Rs. 68,400.0		
1	VFR	21,500	Rs. 0.70	Rs. 15,050.00		Rs. 3.00	Rs. 64,500.00	Rs. 0.40	Rs. 8,600.00		Rs. 0.05	Rs. 1,075.00		Rs. 1.00	Rs. 21,500,00	Rs. 4.00	Rs. 86,000.00		Rs. 53,750.00				
	Girls Hostel Extension. (UNDER CONSTRUCTION)	23,627	Rs. 0.70	Rs. 16,538.90	Rs. 16,539.00	Rs. 3.00	Rs. 70,881.00	Rs. 0.40	Rs. 9,450.80	Rs. 9,451.00	Rs. 0.05	Rs. 1,181.35	Rs. 1,181.00	Rs. 1.00	Rs. 23,627.00	Rs. 4.00	Rs. 94,508.00				Rs. 43,000.0		
ą. P	Prayer Hall Male	3,300	Rs. 0.70	Rs. 2,310.00		Rs. 3.00	Rs. 9,900.00	Rs. 0.40	Rs. 1,320.00		Rs. 0.05	Rs. 165.00	2,202.00	Rs. 1.00	Rs. 3,300.00	Rs. 4.00			Rs. 59,067.50		Rs. 47,254.00		
r. P	Prayer Hall Female	3,000	Rs. 0.70	Rs. 2,100.00		Rs. 3.00	Rs. 9,000.00	Rs. 0.40	Rs. 1,200.00		Rs. 0.05	Rs. 150.00		Rs. 1.00			Rs. 13,200.00		Rs. 8,250.00		Rs. 6,600.00		
i. P	Power Centre	3,300	Rs. 0.70	Rs. 2,310.00		Rs. 3.00	Rs. 9,900.00	Rs. 0.40	Rs. 1,320.00		Rs. 0.05	Rs. 165.00				Rs. 4.00	Rs. 12,000.00		Rs. 7,500.00	Rs. 2.00	Rs. 6,000.00		
	Staff Colony Faculty Apartments	52,800	Rs. 0.70	Rs. 36,960.00		Rs. 3.00	Rs. 158,400.00		Rs. 21.120.00					Rs. 1.00	Rs. 3,300.00	Rs. 4.00	Rs. 13,200.00	Rs. 2.50	Rs. 8,250.00	Rs. 2.00	Rs. 6,600.00		
$\neg$	Girls Hostel old	27,482	Rs. 1.00	Rs. 27,482.00		Rs. 3.00	Rs. 82,446.00		-		Rs. 0.05	Rs. 2,640.00		Rs. 1.00	Rs. 52,800.00	Rs. 4.00	Rs. 211,200.00	Rs. 2.50	Rs. 132,000.00	Rs. 2.00	Rs. 105,600.00		
	CESC Substation Boys		Rs. 0.40	Rs. 332.80	Rs. 333,00	Rs. 3.00		_	Rs. 10,992.80		Rs. 0.05	Rs. 1,374.10	Rs. 1,374.00	Rs. 1.00	Rs. 27,482.00	Rs. 4.00	Rs. 109,928.00	Rs. 2.50	Rs. 68,705.00	Rs. 2.00	Rs. 54,964.00		
H	Hostel & Staff Town Sub Total (1):	580,142		Rs. 422,176.60		ns. 3.00	Rs. 2,496.00	KS. U.40	Rs. 332.80	Rs. 333.00	Rs. 0.05	Rs. 41.60	Rs. 42.00	Rs. 1.00	Rs. 832.00	Rs. 4.00	Rs. 3,328.00	Rs. 2.50	Rs. 2,080.00	Rs. 2.00	Rs. 1,664.00		
		500,142		rs. 422,176.60	Rs. 422,177.00		Rs. 1,740,426.00		Rs. 352,010.00	Rs. 352,010.00		Rs. 29,007.10	Rs. 29,007.00		Rs. 580,142.00		Rs. 2,320,568.00		Rs. 1,450,355.00		Rs. 1,160,284.00		

M.HARIS QURESHI External Member - PC Procurement Specialist - HEJ University of Karachi

Chairman - PC
Assistant Professor - Management
IBA Karachi

Syed Akbar Hussain Kazmi Member - PC Manager Finance (Payable) IBA Karachi

			_				3											4			
	DESCRIPTION							M/s. ECO S	Services								M/s. Pak Pansy F	umigation S	ervices		
S#		(Sq. Ft)	Flying Ins	sect Furnigation Spray / G service charge	15		ofing Services Building / ture Rate per service charges	Rodent	Control Furnigation Serv charges	ices Rate per service		Fungus Treatm Rate per service ch		Flying Insect Fumigation Spray / Gel Treatment Rate per service charges		Termite Proofing Services Building / Infrastructure Rate per service charges		Rodent Control Furnigation Services Rate per service charges			gus Treatment er service charges
			RATE	AMOUNT	QUOTED AMOUNT	RATE	AMOUNT	RATE	AMOUNT	QUOTED AMOUNT	RATE	AMOUNT	QUOTED	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
2	CITY CAMPUS																				
a.	HBL Building	40,608	Rs. 1.00	Rs. 40,608.00		Rs. 3.00	Rs. 121,824.00	Rs. 1.00	Rs. 40,608.00		Rs. 0.05	Rs. 2,030.40	Rs. 2,030.00	Rs. 1.00	Rs. 40,608.00	Rs. 4.00	Rs. 162,432.00	Rs. 2.50	Rs. 101,520.00	Rs. 2.00	Rs. 81,216.00
ь.	Faysal Academic block	23,564	Rs. 1.00	Rs. 23,564.00		Rs. 3.00	Rs. 70,692.00	Rs. 1.00	Rs. 23,564.00		Rs. 0.05	Rs. 1,178.20	Rs. 1,178.00	Rs. 1.00	Rs. 23,564.00	Rs. 4.00	Rs. 94,256.00	Rs. 2.50	Rs. 58,910.00	Rs. 2.00	Rs. 47,128.00
c.	Canteen Ground Floor	2,658	Rs. 1.00	Rs. 2,658.00		Rs. 3.00	Rs. 7,974.00	Rs. 1.00	Rs. 2,658.00		Rs. 0.05	Rs. 132.90	Rs. 133.00	Rs. 1.00	Rs. 2,658.00	Rs. 4.00	Rs. 10,632.00	Rs. 2.50	Rs. 6,645.00		Rs. 5,316.00
d.	IS auditorium	12,863	Rs. 0.70	Rs. 9,004.10	Rs. 9,004.00	Rs. 3.00	Rs. 38,589.00	Rs. 0.40	Rs. 5,145.20	Rs. 5,145.00	Rs. 0.05	Rs. 643.15	Rs. 643.00	Rs. 1.00	Rs. 12,863.00	Rs. 4.00	Rs. 51,452.00	Rs. 2.50	Rs. 32,157.50	Rs. 2.00	Rs. 25,726.00
е.	AMAN Tower	126,000	Rs. 1.20	Rs. 151,200.00		Rs. 3.00	Rs. 378,000.00	Rs. 1.00	Rs. 126,000.00	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	Rs. 0.05	Rs. 6,300.00		Rs. 1.00	Rs. 126,000.00	Rs. 4.00	Rs. 504,000.00	Rs. 2.50	Rs. 315,000.00	Rs. 2.00	Rs. 252,000.00
	Taufeq M. Chonaie admin block	27,308	Rs. 0.70	Rs. 19,115.60	Rs. 19,116.00	Rs. 3.00	Rs. 81,924.00	Rs. 1.00	Rs. 27,308.00		Rs. 0.05	Rs. 1,365.40	Rs. 1,365.00	Rs. 1.00	Rs. 27,308.00	Rs. 4.00	Rs. 109,232.00	Rs. 2.50	Rs. 68,270.00	Rs. 2.00	Rs. 54,616.00
g.	Stores	1,475	Rs. 0.40	Rs. 590.00		Rs. 2.00	Rs. 2,950.00	Rs. 1.00	Rs. 1,475.00		Rs. 0.05	Rs. 73.75	Rs. 74.00	Rs. 1.00	Rs. 1,475.00	Rs. 4.00	Rs. 5,900.00	Rs. 2.50	Rs. 3,687.50	Rs. 2.00	Rs. 2,950.00
h. 9	Substation	1,065	Rs. 0.40	Rs. 426.00		Rs. 2.00	Rs. 2,130.00	Rs. 0.40	Rs. 426.00		Rs. 0.05	Rs. 53.25	Rs. 53.00	Rs. 1.00	Rs. 1,065.00	Rs. 4.00	Rs. 4,260.00	Rs. 2.50	Rs. 2,662.50	Rs. 2.00	Rs. 2,130.00
i.	Generator Room	1,165	Rs. 0.40	Rs. 466.00		Rs. 2.00	Rs. 2,330.00	Rs. 0.40	Rs. 466.00		Rs. 0.05	Rs. 58.25	Rs. 58.00	Rs. 1.00	Rs. 1,165.00	Rs. 4.00	Rs. 4,660.00	Rs. 2.50	Rs. 2,912.50	Rs. 2.00	Rs. 2,330.00
	Sub Total (2):	236,706		Rs. 247,631.70	Rs. 247,632.00		Rs. 706,413.00		Rs. 227,650.20	Rs. 227,650.00		Rs. 11,835.30	Rs. 11,835.00		Rs. 236,706.00		Rs. 946,824.00		Rs. 591,765.00		Rs. 473,412.00
	Total (1 + 2):	816,848		Rs. 669,808.30	Rs. 669,808.00		Rs. 2,446,839.00		Rs. 579,660.20	Rs. 579,660.00		Rs. 40,842.40	Rs. 40,842.00		Rs. 816,848.00		Rs. 3,267,392.00		Rs. 2,042,120.00		Rs. 1,633,696.00
-	Frequency during the Year:			3			1		3			4			3		1		3		4
	Total Annual Cost:			Rs. 2,009,424.90	Rs. 2,009,425.00		Rs. 2,446,839.00		Rs. 1,738,980.60	Rs. 1,738,981.00		Rs. 163,369.60	Rs. 163,370.00		Rs. 2,450,544.00		Rs. 3,267,392.00		Rs. 6,126,360.00		Rs. 6,534,784.00
	SST (10%):			Rs. 200,942.49	Rs. 200,942.00		Rs. 244,683.90		Rs. 173,898.06	Rs. 173,898.00		Rs. 16,336.96	Rs. 16,337.00	SST 13%	Rs. 318,570.72	SST 13%	Rs. 424,760.96	SST 13%	Rs. 796,426.80	SST 13%	Rs. 849,521.92
	Total Amount with SST:			Rs. 2,210,367.39	Rs. 2,210,367.00		Rs. 2,691,522.90		Rs. 1,912,878.66	Rs. 1,912,879.00		Rs. 179,706.56	Rs. 179,707.00		Rs. 2,769,114.72		Rs. 3,692,152.96		Rs. 6,922,786.80		Rs. 7,384,305.92
	Quoted Grand Total:							Rs. 6,994,4	176.00												
	Grand Total:							Rs. 6,994,4	175.51	1	Grand Total: Rs. 6,994,475.51										

M.HARIS QURESHI External Member - PC Procurement Specialist - HEJ University of Karachi

DR. SHAHID MIR
Chairman - PC
Assistant Professor - Management
IBA Karachi

Syed Akbar Hussain Kazmi Member - PC Manager Finance (Payable) IBA Karachi